f(h\h&%ﬁé#%#ﬁ P 3¥FE BANOLL—=>7 Trainingl

(1) 7-(-2)x3 ZHEESL, (2) =+ =x (62 EEHFE &,
(3) (—6ab)? = 4ab ~ (-3a) ZEEEE &L, (4) a? -4 - ) ZRAEH Y &,

(5) (Z-2)+v2 zEEHL

(6) AR Sx+y=4x—-y=3x+9 ZEHEEL,

(7) AR 2(x—-2)?=x?—-x %:tEH L.



Kh\h&%ﬁéékéﬂi#ﬁ P 3FE BADLL—=>7 Training 2

(1) -3-(=6)+5 EaHEE L, (2) (2-5)= (-3 zatmes,

(3) T2 _3(3x-2) %EHHL X, (4) 4a>+4a—6a HFt5E L,

(5) x=vV3+2, y=+/3-2 ot &, Xofzkd X, x%+y%-2xy

3x+y—2=0

(6) 7 s {2(x+y) =3(y+1)

(7) R x(x—-3)=6-2x %R,



Kh\h&%ﬁéékéﬂi#ﬁ P3IE BA2NDIL—=>7 Training3

(1) 1-(=5)+(-8) %t L, (2) Z+(-B)x(-37 #it@es,

(3)3(6x—1)—43Bx+2) #*itHEHw X, (4) (12x?y —9xy) +3yy ZatHE X,

(5) NIB-VID)(VZ+V3) #itEek,

(6) (a=—b)?—4(a—>b) ZEHNENRE X,

(7) R 22 -5)=x(x—1) %R,



Vrh~mesasn P 38KFE BRO ML —=>7 Training 4

(1) 9% (-2) = (-5) #itHe k. (2) g+ (-2)?x 64 ZFHE Lo

(3)2(6-30)+5Cx—2) ZFHEL,  (4)(6xy)* + (~4uy) +5xy  EFHA L,

(5) x=V3-1, y=vV2 0L & Rofizkd L, x?>+y%+2

(6) V12 ++/8++6 #%EIHEE X,

(7) R (x—=2)2=6-3x %I,



Kh\h&%ﬁéékéﬂi#ﬁ P3RE BRDOIL—=>7 Training5

(1) 3—2x(=5) %*atEwk, (2) 3x(-2)+(-D? #aHeE L,

(3) x—y)Bx+y)—2(x+y)(x—2y) %itEE X,

(4) 4a%b x 9ab + 3ab? #%EEw X, (5) x/ﬁ—%—\/ﬁ *EEE X,

(6) a2 —5ab —6b% Z%KE ML X,

(7) HERX 3Bx(x+1)=2x2+1) %,



Kh\h&%ﬁéékéﬂi#ﬁ P3E BRDOIL—=>7 Training 6

(1) 5-12-(-3) %iHw L, (2) 2+ G- %kalhe L,
(3)%(x—4y)—§(2x—9y) ZEHRAE X, (4)5xy —18x%y? + 6xy %alHE X,

(5) W3+V2)2—-(1+6)2 #%itEwX,

(6)x=§,y=—§@k§\ x? +4xy + 6y? OfEZRD X,

(7) X x(x+4)=6+5x ZfET,



Kh‘h’\“?lﬁ#ﬁ(%#ﬁ% P3HFE BRDLL—=27 Training 7

(1) (~6)—2x(-7) #F5eL, (2) 2 (=321 zasie s,

2

(3) 12(Z2-Z2) %atsie k.

(4) (3a%?b? —9ab? + 6ab) =~ 3ab Z%iFtHEE X,

(5) (2v2+3)(3V2—-4) %EtHEE X, (6) x2=2y*+xy ZRNEIFEE L,

(7) HBERX x(6x—1)=18—-x #%f#T,



f(h\h&%ﬁé#%#ﬁ P 3KE BRDbIL—=>7 Training 8

(1) 4-{83-(-2)} %&atftL, (2) ¢-H+ (Y2 zitgek,

(3) (2a—3b)2—(a—3b)(4a—3b) %ZEIEY L,

(4) 15a2b + 6ab? x (—2ab) ZatEHE X, (5) (V98 —-+18) +V8 %alF& X,

(6) x==2,y="0rE, x2-4y? Offizkw X,

(7) /AR 5(x—1)=9—-x2 ZRT,



Kh\h&%ﬁéékéﬂi#ﬁ P3KE BRrDOIL—=>7 Training9

(1) —4—3x(-2) *itEek, (2) I+ (D) x (=27 #FHEE L,

3

(3) B2 wapEe k. (4) 2ab? + 6a?b x (~9ab) #*aHHE L.

4

(5) (V75-v12) +V3 %atHEe X,

(6) a?—(b+1)? %HEIWHE X,

(7) /R 4x(x-1) =30x%*-2x+1) %@,



Vrh~mesasn P 38KFE BRO L —=>7 Training 10

(1) 5+(=7)—(-6) %EELL, (2) 5-2x(-2)? #itHe L,

(3) Rx+3)xE-3y) - 2x—y)(x—y) %*itFHe X,

(4) 12x%y + (—2x) + 6y ZFHE X, (5) \/%—\/125+% EEE X,

(6)x=§,y=—%@k§\ x2+4y? +4xy OfEZRD X,

(7) xic2VW T RABRK 3x2+ax—4a=0 (@IER) DD 120882 THsL

X, a Dfizk® X,



W hh~rEkesm P 3H¥E BRDOFL—=>7 Training11

(1) 4+ (=2) +(=5) #HaEtEe k. (2) 6-9x (-2 ZitHe L,

(3) %_%Jrf_zy wEE X, (4) 6a%b + (—3ab) x 2ab ZEIEHE X,

(5) x?2+xy—12y? #ZKEHRE X,

(6) x=2 y=—%@k?\ RDOADEE KD X, (3x + y)? — (3x — y)?

3\

(7) HEKX 3x(x—-1) =4(x+1Dx—-2) %@ET,



W hh~rEke¥m P 38E BROML—=>7 Training 12

(1) 8+ (=6)—(-2) %ilEw X, (2) 243+ (=3 #iHe X,

(3) 53x—y)—{3x—4(y—3x)} ZElEHE L,

(4) 6a> —Z(3a—b)(Ba+b) %ilhe L, (5)V48 —V75+V12 #%EtEw X,

2
(6) E#7 R { x Yy _ Z T,

(7)) AKX 2c=Dx+3)=x%24+5x—4 %I,



V(rh~mesesn P 38KFE BRO KL —=>7 Training 13

(1) =3+ (-2)x5 %L, (2) 3+ (3-3) ZAHHLE L,
(3) 222 %Rk, (4) (4a—6a%b) ~2a #aEEE X,

<5yﬁx¢r—% ZEHER X,

(6) a=—§, b=% DL %, 2ab+a’+b> OfEiEko k.,

(7) (a+2)(a+b)—a-b Z=HREHHE L,



W hh~rEke¥m P 3% BROFL—=>7 Training 14

(1) —1-{-5-(-4)) #%Ex L, (2) §—§x62 REMEE X,

(3) (a+b)(Ba—2b)— Ba—-b)(a+2b) %ZHEREX,

(4) 3x%y -+ (—%xy) x (=2xy?) #%EMEYE X,

(5) (V6—v2)" +V3(4+V27) #atfie X,

(6) xic2WTDHFRER 5(a+2x) —3Ra—x)=a+1 (alZEE) DEIR—-1 D& %,
aDfE% kKD X,

(7)) KX x-2)(x+3)=5x+6 #%fRlT,



Kh\h&%ﬁéékéﬂi#ﬁ P3IE BADLL—=>7 Training 15

(1) 2-{3-(-1)} #%a@Ee Xk, 2) g—gx(—z)z REEE X,

(3) (a—b)(5a —4b) — (5a+ b)(a—2b) %iFEE X,

(4) =2xy+ (—%xyz) X 6x%y  HEIEA X,

(5) x=3+V2 Dex, x2—6x Dfizxkd X,

(6) st {xjgi_
5

N

(7) HERX x(x—4)=12-5x %@,



W (rhREKGSR t3%E B0 kL —=>7 Training 16

(1) —4+8+(-2) wilHek, (2) —2245 (=3 zatgex,
(3) 2222 a5k, (4) 12ab x (—2ab?) + (—6a?b) % FtHA X,

(5) V5(2v3-3)—+45(v/3-1) %atHEE X,

(6) (a*+2a)—(a+2) ZHREIFEE X,

(7) HEKX 3(x+Dx—-2)=2(x%2-2) %M@,



f(h\h&%ﬁé#%#ﬁ P3IE BADLL—=>7 Training 17

(1) 3—(-4)x2 %FHEL, (2) (-1)+I mitme .

(3) —2(Ba+4b—-2)—-3(4—2a—-5b) %iEHE X,

(4) 5x%y x 12xy? + (=2)%xy %*GMEHE X,

(5) (\/E+%)><\/§ *EHEE X, (6) (a—b)(a+2b)—4b? # R EE X,

(7)) HERX x2+3x+1=0 %M,



W hh~rEke¥m P 3H¥ BRDOFL—=>7 Training 18

(1) B3-2-1}x(-4) #iEEX,

(2) 12-4+(=2) =@, (3) ZB_X9 gk,

4 6

(4) 5ab+ 12a%b? =~ (—3ab) #%EtHEE X,

1

(S)x:%,y=—6 DE X, x?2+6xy+10y? OfE%EKD X,

X
(6) @y |, *? %R T,
§+y =-1

(7)) FEAX x(x+2)=x+2 %R,



Vrh~mesasn P 38KFE BRO ML —=>7 Training 19

(1) (=3)2—(—4) #aEwXx, (2)3_12. % ey,

5 13 39

(3) a=5.6, b=120t %, XORDftiZKD X, a?+9b% — 6ab

(4) VB(VIZ+VZ7) #ithie k.

(5) 9a2 — (3a—2b)(3a+2b) %iEEE X,

(6) x?—4y? +3xy #REDHEE X,

(7) /AR 3(x+2)=x2+4x %R,



W hh~rEkesm P 3H¥ BRDOFL—=>7 Training 20

(1) 9-2x(-3) #itex, (2) 2-(-3)-% #mdtEeL,

(3) 4(a—§)+a+36b ZEIRAE X (4) (—-8x%y) ~ (—2xy) —x #%ilt&H¥ X,

(5) (2+V3)xV2-v8 %iEthE X,

(6) (a+b—-2)(a—b+2) ZJEHHE X,

2x+3y=-5

(7) iR {57070

T,



W hh~rEkeism P 3H¥E BRDOFL—=>7 Training21

(1) 8—(-3)x4 #iEwk, (2) —§+i—(—2)2 ZEHEE X,

21

(3) @_% EFER X, (4) 12a%b + (—6ab) x 3ab? Z%EMEHE X,

(5) (VB+V18) +v2 #%aElH+ X,

(6) xItO2WTOHERX 3(@—2x)+2Qa+x)=a DEB3I DL X,

TERaDE% KD X,

(7) HBERX x2+2x=3(x+4) %R,



Vrh~mesasn P 38FE BRO ML —=>7 Training 22

(1) ~4—(-2)+8 &EHEE L, (2) =9+ (-3 zatmex.
(3)32) 2% patiie X, (4)12a2b? + (—2ab) + ab % il X,

(5) V32 +V12++6 #%GHH®E X,

(6) (3a—b)(Ba+5b) —(3a—2b)? ZEtEE X,

(7) R @x+Dx-2)=x2—x+6 #*f#T,



W hh~rEke¥m P 3%FE BROFL—=>7 Training 23

(1) 3x4-(-2) #FHEL, (2) 2a-2a-2a %&HEE L,

(3) B3a+2b)?—(a+4b)(a+8b) Z%FEEIX,

(4) V24 xV18 ++3 %HEtHE X,

(5) 24+(=3)- (-9 wmatmex, (6) Z=2—(2x—5) %itfw X,

3

(7) AKX (x+5)2-7=0 %M@,



W hh~rEke¥m P 3%¥ BRDOML—=>7 Training 24

(1) 5—2x(~4) %itEeL, (2) (-3 = (-2)+1 mitmes,

(3) —4a%b +8ab x (—6b%) %atEE X,

(4) (V50 -+V18) +v2 #%EHHEE X, (5) /B (x-—2)(x—3) =2x% %},

3x —4y =17

(6) vkt hx+w=—2

Z T,

(7)) (x=3)(x+3)—(x—3)2—-6x ZitEL X,



W rh~mesasn P 38KFE BRO ML —=>7 Training 25

(1)9-6x2 #EEek, (2) (-9 =+ (-9 +2 witmek,

5

(3) 2a-18a?h* + (-3ab?) %alHt k. (4) 22222 2 X,

(5) (2v5-1)" = (6-4V5) %atEe X,

(6) a?—(b+1)? %RBMHE X,

(7) HBEX x+24=x2x-1) %@,



W hh~rEkesm P 3%¥ BRDOML—=>7 Training 26

(1) 5+4+2 %lel, (2) 2-(-3)-1 #%@tEeL,
(3) 12ab*+-abx3a %atHe X, (4) (VB0 - V45) x V20 %GHH+ X,

(5) AR @x+1)2-CBx—-1D(x—1) =48 %R,

(6) xiT2WTDO XX 3x2+ax—4a=0 (alZEH DD 1 2B 2TH 3

LE, aDfEE KD K,

(7) a=175, b=27TD ¢ %, (a+b)?2—-4(a+b)+4 DfEZEk® X,



Kh\h&%ﬁéékéﬂi#ﬁ P3IE BADLL—=>7 Training 27

(1) ~8+10+5 ZalHe X, (2) 2-(=3) #ithe L,

(3) 3a%b+ax(-2b)? #%iHEwE X,

(4) x=2v34+1 DEE x2-2x+1 DfEzERD X,

(5) HERX x(x+2)=5x+2) %MREJ,

ax+y=7

(6) e (Y]

DEHR  (x,y) = (4,b) TH2LE, a,bDfExKD X,

(7) R x+3)2=3(x+4) =%M@EI,



Vrh~mesasn P 38FE HBRO ML —=>7 Training 28

(1) 6x7-(=3) #Zathiek, (2) 2+(2-3) zdtsEe L,

(3) (24a?b —8ab) ~ 6ab —4a #*EtHEE X,

(4) VZ(V50—V3) - V3(VAB—Z) %atEe k.

(5) HERX x2+2x+1=4 %M,

3x+y—-2=0

2 +y) =3y +1) T

(6) sy s {

(7) 8x2—2 %KL X,



W hh~rEkesn P 3% BROML—=>7 Training 29

(1) 15-(=6) %k X, (2) 2 (=3) =2 miatmek,

(3) Hplx (x—3):8=3:2 #%iiTxDfEizRkD 7 X\,

(4) x=38D¢ & (x—-1D(x+3)—-(x-3)(x-5 DfEZkD X,

(5) VB-22 mathe k. (6) 2% 2atgek,

(7) AKX 2(x+2)2=4x+8 %R,



f(h\h&%ﬁé#%#ﬁ P3IE BADIL—=>7 Training 30

(1) —~6+3+7 #FHEL, (2) 2-2-(-2) #ithel,

9 18

(3) —1.6xy x (=3.5x) + 0.2y Z%itHEE X,

(4) (6a%b —18ab + 12ab?) + 3ab +2(3 —2b) %atEE X,

(5) V64 +V12 xV27 %ZFHRE X,

(6) HERX G+d)Ex-4)+15x=0 Z%fFT,

3x —4y =10

ax+3y=30 WD

(7) sy AR {



